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MOCK TEST—1

The surface area of a cube is 726 cm?, find its volume?
T S T TS SRS 726 WY €, THRT SIEEA
[7

(A) 1000 (B) 729 (C) 1728 (D) 1331
What is the sum of least and maximum value of x so that
5 digit Number 427x5 is divisible by 9?

X% A9 3R Al W 1 AN F4 © AR 5 AR
T HWE&AM 427x5, 9 9 fawsa B2
(A) 12 B) 9 ©)6 (D) 8

2xy
Iftan® = 2 2 , find sin6+ tan6?

X -y

2xy .
i tand = xz—_yz sinf+ tanOF F?
()
x'+y!
4o ()

©

4xy(y)

R _y4
4xy(y*)
x' !

Find the value of SH2X8#9+8+8+8
ind the value of ———————"———"—

8§+9%x8-9+8-8-+8 ah
S5+5%X5+5+7+7+7 1AM 3 !
437

JREC TN 5 3
( )903 ()437 ()625 ( )568

A right angled triangle of area 364.5 unit is to be made
such that hypotenuse is /2 times the base, then for
triangle hypotenuse is more than the base.

364.5 o TR &TRE 1 Toh FHSIU S TH THR
T € TR w SMUR T 3 AT @, A Ul SR

g ahrw R
(A) 12 THTE (B) 11.20 T

(C) 11.01 318 (D) 11.5 3T

On selling a item at certain price after a discount of 25%,
there is a profit of 25% find the ratio of cost price to
marked price?

25% W B2 & 98 T o I (vEd qod W T W
25% =1 T 811 €, WA qod I ifhd Hod 1 ST
@ HIfST?

(A)4:5 B®)5:3 (©)3:5 D)5 4
Ram travelled an equal distance with the speed of 45 km/
hr, 50 km/hr and 60 km/hr. What is the average speed of
Ram during the whole Journey?(Rounded off)

T A 45 Trwi/a, 50 fRefiyser S 60 foRei/sier +1 ifa
U TaE g a9 *1 g4 a0 # INE 9 H dea i
T 87 (qOTfeR)

(A) 51 B)49.5  (C)50 (D) 505
The price of an electric bike was 130,000 last year. This
year price got increased by 20%. What is the price of bike

(A) ®

(D)

this year?

ﬁ?@gw T Toifaesh dIgh @1 A 130,000 °f. 39
A FHAT H 20% FHi T@ el 39 Tl a3k Fi HIAd
1 2?2 (use % of ®ITET)

10.

11.

12.

13.

14.

15.

16.

17.

(A) 1,50,000 (B) 156000

(C) 104,000 (D) 130000
(25+5)+5+Q27+9)x5-36+6)x(3+2)=7
(A6 B)7 ©8 D)9

The price of an item Increased from 2700 to 3600. Find
the Increase percentage?

T 9% &1 HMT 2700 T T3FHL 3600 B T Iy wfaea
RIECAIS

1 2
(A) 25% (B)20%  (C)333% (D) 165%

A man can row 9 km/h in still water. It takes him 3 time
as long as to row up as to row down the river. What is
rate of stream?

T TRl feer art # 9 fRei/Ee =t fd § 9= =en
T B IH A B FHR AE T § A A T g,
ST 3 T AU T 39 A & A= T T | o
Bl 9 #T TR 22

(A)5km/h  (B)4.5km/h (C)6km/h (D) 4.5 m/h
Three Quantities costing Rs. 25/kg , Rs 35/kg & Rs. 45/
kg are mixed in ratio 2 : 3 : x. So as to get a mixture
worth Rs. 40. Find the value of x.

25 %./fF, 35 %./fF SR 45 %./fRm Al 7 wEet
2:3:x % YA | oo S 21 e 40 & T
s 9 B ¥ x FT AR @ HHQ

(A) 3 ®B) 5 (©)9 D) 2.5

If the radii of two circles are 5 cm & 4 cm and the length
of common external tangent is 6 cm. find distance between
two circle's centers?

Iz & g w1 Beard 5 A SR 4 9 ¥ oI Swafe
el TIIRET T e 6 T B I g9l b R @ s

T U @ HL?

(A) 35 ® J45 (O 39 D) 37
fA:B=4:5andB:C=6:7findA:C:B

I A:B=4:5 IR B:C=6:7 A d A:C:B T FIfT?
(A) 24:35:30 (B) 28:35:30

(C) 24:30:35 (D) 35:30:24

A can do a work in 10 days, B can do double the work in
15/2 days, If they work together, then the work will be
completed in?

A TF FM I 10 &7 o T Hka1 €, B 5U &M I 152
& & I B TR 7, AR A TF WY FW R €, @
wM fRaT T9a ¥ U § SICm?

(A) 51/3 days (B) 6 days

(C) 30/11 days (D) 5days

The SI on a sum for 12 years is 4/5 of the sum. Find rate
of Interest per annum?

12 a9 & A W WERT A, AN O 4/5 21 Ha T
S J AT HiTeg?

1
(A) 5% B)25/3% (C) 65% (D) 20/3%
Find mode of the following data?
frfafed 221 1 agas A Hieg?
12,14,15,04,9.9.7.7.7,2,5,.7.9, 12, 13
(A)7 (B) 8 (C)7.5 D) 6



18.

19.

20.

21.

22.

23.

Which of the following are true-

Frefofa o & %F =1 5 8-

I.  Mean — Mode = 3(Mean — Median)
e — Hig =3 (A1 - e

II. Mode — Mean = 3(Median - Mode)
g — WA = 3(AIfeaht — /)

III. 3 Median = Mode + 2 Mean

3 HIfemsRT = SgaTh + 2 HIeA

3 Median = 2 Mode + Mean

3 HIem =2 Sgah + WieA

(AI&IV @B®U&IO (O)I&II

Iv.
D) &IV

7 9 4 A
IfP(A)= = PB)= 1= &P(A N B)= 3 findP| &

A
afg (A)— 3 P®) = ?ﬂﬁ'{ P(A N B)= 3. (Ej
A HL?

(A) 4/9 (B) 4/7 (C) 9/4 (D) 7/4

M varies inversely as (N2 + 4). If M = 1 when N = 2 then
what will be value of M when N = /60 ?
M (N2 +4) = foadia o= g 21 afg M=1 8 590 N

=2 d M %1 W9 F0 e W& N= Jgo &7

(A) 1/4 ®)2/16  (C)1/9 D) 3/4

The Perimeter of a minor Sector of a circle of radius 4
units subtending an angle of 45°?

45° 1 I ARG FT A 4 HEA T A1 AT Th
T4 F o Beads w1 aiEm F@a 2?

Ad-7r @®4d4+71 (O8+71x D) 8- r
Ravi initially used to save 20% of his monthly income
Recently his monthly income was raised by 25%. His
nominal savings also went up by 5%. What percentage of
his present nominal income Ravi currently save?

[ & | oTOA ARAE T HT 20% T o1 B & H
ITFT AAE T | 25% i Jhg g5l STH! THAS F=d
H ot 5% w1 Ffg g3 M9 a9 | T FdAe A
T 1 TR wider s 82

(A) 25% B)20%  (C)15% (D) 16.8%
The bar graph represents the production of different spare
parts of computer in different months.

TR I fafa= 989 ° Fege & = TR el &
SCUEH k! FT 2

Bl cp

[l PEN DRIVE [ KEY BOARD
8000
7000
6000
5000
4000
3000
2000
1000

JAN FEB MAR  APRIL MAY

The ratio between the number of pen drives produced in
the month of Jan, March and April is:

24.

25.

26.

27.

28.

29.

30.

Mock Test Paper-1

ﬁmﬁ,mﬁﬁ?aﬁaﬂﬁﬁﬁmﬁﬁwaﬁ

& % W U B
(A) 3:1:2 @) 1:1:1
© 1:1:3 D) 1:1:2

Find the number of Permutation & combination of n =
12andr=2

n=12 3R r=2 & FAIREH K TAeH F1 T=n 7T

(A) 132,66 (B) 66, 132
(C) 132,55 (D) 55,132

If 91 is the mean proportional of 49 and x?, what is the

Jue of ~
value o 2

7tE 91, 49 AR x* 1 AR B, A gaﬂmw%?

(A) 13 B)6.5 ©6 (D) 14/2

In September, Sunil's bank account balance is Rs. 3000
for 20 days, Rs. 21000 for 6 days & Rs. 4000 for 4 days.
What is average balance of Sunil's bank account?

foder ®, e & o @m w1 i B 20 B oW fag
3000 %., 6 Tt & 1T 21000 %. @R 4 & & femw 4000
% ¥ gl # d% @ W sem af e 87

(A) 6733 B) 6700  (C) 6750 (D) 6634
What is the present worth of Rs. 2800 due in 4 years at a
rate of 10% SI per annum?

T3 1 A oI 41 82 T a6 10% TIER0T <A
W|WH 4 T A 2800 TIF 3T BRI?

(A) 2500 (B)2000  (C) 1500 (D) 2556

A man travels 360 km in 4 hr, partly by air and partly by
train. If he had travelled all the way by air, he would

4
have saved gof the time he travelled by train and he

would have arrived at his destination 2h early. Find the
distance the travelled by air?

T 1Al 4 hH 360 km B AT $Ral 2, 5794 4 7B
X 92 TA1E OTES ¥ SR {5 g Vel | a3 dRdl
2| afe 98 g0 11 2aE SR W AT, A1 98 XS

ﬁaﬁﬁwﬁaﬁwmgwwﬁmsﬁ?

U Tl WR 2 h U8l Ugd SiIdl | §A1S STElol §IRT &l
TS AT H T g A BITY?
(@260km  (b)290km (c) 270 km
Ifa*+3a’+3a=124finda +a*?

IR a* +3a%+3a=124 T W a+a’ T FIWC?

(A) 64 (B) 68 (€) 72 (D) 60

A shopkeeper marks up the price of oil by 20% & uses a
faulty machine which measure 10% less find profit/loss
% ?

Tk THMER TS T HIH 20% Afeeh ifera whar 8 3R
Tk YUl WA T SYET H € S 10% FH A €,
TAMH/BIN % AT L2

(d) 280 km

2 1
(A) 25% B)20%  (©)162% (D) 33:%



Mock Test Paper-1

‘ Answer Key

(1 o2 ® |3 ols ol ®lse ©|l72 wls ® |9 ® |0 ©]
1. ® (122 © |13 o1 wlis. ©lie O] 17 A]|18 © |19 ) [20. B
2. © 2. |23 O |22 w25 ®|26. @272 ®[28 © |20 ® [30. ©

1.  Surface area of a cube = 6a>

6a’ = 726 9 1+15-6x 2
a=11 - 2
then volume of cube = a* = (11)° = 1331 =1+15-9=7
2 42745 10. 2700 3600

9 3 4
minimum value of x = 18 + x =0 ~— 7
maximum value of x =18 +x=9 1 1
sum of minimum value + maximum value =0+9 =9 3 100 = 335%

3 tanpg = Ly 11. Downstream  Up stream
-oang = e e d=(9+x) xt=(9-x) x 3t
Triplet = x2 + y2, X — y2, 2xy 9 +4X = %9 -X)

< =
. 2 2xy x=45
sing +tang = "2 I tT 2 I rate of the stream is 4.5 km/hr
12. 25, 35, 45
2xy[(x2—y2)+(x2 +y2)] 4xy(x2) 2 . 3 X
- - - 50 + 105 + 45x = 40(5 + x)
X -y X =y 45x —40x =200 - 155
1 1 5x=45
8+8+— 16+~ Xx=9
A 51‘ flg 903 13. distance between two circle
. = = — 2 —=
545+4=  10+— 568 X =36+1
7 7 X2=37 = x= 37
5. 14 A :B B : C
Vax (4:5), © = 7,
* A B :c
24 030 35
x 15. A — 10 3
2
perpendicular = (x/fx) -x’ =x 5 15 30
1 4
—xXxxx=3645 30
2 A + B will complete work in = — day
=729 = x=27 11
. J2x —x=273 -27=11.20 6. si= 2
6. CP MP 3
75 125 P SI
3 : 5 s 4 [T = 12year]
3xyz
7. average speed= _ . 4= Sx12xR
Xy"ryZ"er 100
3% 45% 50 60 40500 _ o 20
= = ~ )
45x50+50x60+45x60 7950 g =5
17. mode =7

6
8. 130,000 x 5° 156000



18.

19.

20.

21.

22.

23.

24.

3 median = mode + 2mean

I.  mean - mode = 3(mean - median) v
II.  mean - mode = 3(median - mode) X

III. 3 median = mode + 2mean v’
IV. 3 median = 2 mode + mean X

P(A —lPB —iPA B —iP
(A) = 73 PB)= 3 PARB) =
P(AUB) =P(A) + P(B) - P(A(B)
P(AUB) = s + 242
AB =T 3" 13713
P(AnB) 4 4
P(A/B) = P(B) = E_g
9
13
) 1
N* +4
1
=K
M N° +4
M=1
N=2
thenK =38
M= 8 1=
=i =60
__8 _1
C60+4 8
0 =45.1=4
) b of _ 27rd 3
ength of arc = 60 Fem
perimeter of minor sector =8 + 7
Income Saving
100 20
+25%C ) +5%
125 21
P = 21100 = 16.8%
.. Percentage = 125 =16.8%
(Pendrive)
Jan : march April
1500 ;1500 3000
1 | 2
Permutations
n! 12!

PO D= () = o = 132

n!

combinations C(n, r) = - ( e r)!

25.

26.

27.

28.

29.

30.

aQa

Mock Test Paper-1
12!

21101 ~ 00

Meanproportional = /49« x? =91
7x=91

13> X =65
X :}2 .

20 day — 3000
6 day — 21000
4 day — 4000

~ 60000 +126000 +16000
- 30
6733.33 = 6733

2800100
140

P. = 2000

R AT Al ST §RT a0 B WR N T

=4-2 =24

360
gATS STETSl &Y o = T=180km/h

360 km @1 AT BT gAls SIS 3R YoMl & ad

P W 4 S A B |

NSRS X%=2 He, YS! BT 999 =2><%=2.5‘€ié
AT ¥ 2.5 6 ATAT B Wl 2 |

T B {B AN gl Sialel ¥ T HRT R o J9Y

=4-25=15%c
ZATS SEle 9§ O3 &I T8 g9 = A1 x G9

=180 x 1.5 =270 km

a*+3a’+3a=124
add 9 to both side
a*+3a’+3a+9=133
(a*+ 3)a+3) =133

- a=4 satisfy
atal=4+64=68

C.P S.P

900 1200
3 4

~_

lx 100 = 331%
3 3



MOCK TEST—2

tan 56 + tan36 o

4cos40(tan56 —tan36)
(A) sin26  (B) cos 26 (C)tan 46 (D) cot 26

A can complete a work in 5 more days than B, and does
the same work in 9 more days than C. A and B can
complete the whole work in the same time in which C
alone does the whole work. In how many days A can
complete the work?

A TRt om0 B 5 & srfuen § g0 R e, den SE
=M 1 C W 9 T’ a1fereh § 90 o T 21 A IR B R %M\
=i S 9Ha QU R R €, (e C el g wm
B A M I R T H #R e 2

(A) 12 days / f&= (B) 15 days / &=

(C) 18 days / &= (D) 20 days / f&7

The average speed of Rajdhani express is 5 times the
average speed of local train, If the average time taken by
both of them to cover a distance of 2520 km. in 63 hrs.
Find the time taken by Rajdhani express to cover a
distance of 1320 km.

T CFISE 1 S T eliehel o7 S e T W S
T ®, A I g 2520 TRE R g0 q9 e | foren
ST T 63 T F1 A TowIET TR g0 1320 TR Y
30 7@ & H o 7o w9 7@ S

(A) 11 B) 9 (©) 15 D) 18

A sum of 40000 is invested for 2 years at 20% per annum
compounding half yez;r%(. Find the compund interest?

40000 =T O 2 I & fAw 20% a9 w R H
refaliier &9 @ e g FEw w1 S {1 et
S A ShITSIT?

(A) 18564 (B) 19652  (C) 18944 (D) 16584
Aright angle triangle AABC in which ZA=90° and AD
is perpendicular to BC. If area of AADC = 19 c¢m? and
arca of AABC is 171 cm? If AC 12 cm then find the
length of BC.

T& FH&IU 195 AABC 588 £A=90° @1 AD, BC
W T T A AADC FT ETFA =19cm? T A ABC
1 €% 171 cm? 71 % AC 12 cm # df BC &1 wiaé
@ =IfST

(A)24cm (B)48cm (©)36cm (D)30 cm
Nirmal borrows a sum of Rs. 6300 from Akash at rate of
14% per annum for 3 years. He added some more money
in it and lent it to nishant at the rate of 16% per annum
for 3 years. If he gets total profit at 618. Find how much
amount does he added?

J oRmT § 3 a6 & fow 14% Wid a6 w WA
6300 T SHR fo) <& s R U9 Wi ok T
fema =1 3 A &% foTQ 16% 90 o =1 W H 3R f=m
TfE SH A o9 618 Thewn €, @ W@ witew o se
ferert T wiEN?

(A) 600 (B) 800 (C) 400 (D) 500

The distance PC, in the given figure is 60 cm and PDE
is common tangent to the circles whose centres are ¢,
and c¢,. The ratio of radii of two circle is 3 : 5.

# T amFf § g0 PC, 60 T ¥ @R PDE 3 61
IS T ¥ R %3 o, 9 o, 13 o Y e
T AIIT 3 ¢ 5 B

10.

11.

12.

13.

€1 ]

Find the length of DE = ?

A) 415 ®315  O6f15 O 815
Sagar marked rice 20% above the cost price and sold it
at a discount of 10% using a faulty machine, he sold
only 1600 grams for price of every 2000 grams. What is
this profit percentage? )
TR A FEA HHT T | 20% A qod W StfRa
e qen TUE WA 1 STAN FE 3H 10% T B2 W
1, SHT W 2000 U FI FHAT T HAA 1600 TH
oA S AE N wfaerd ¥4 §2

(A) 20%  (B)24% (©)35%  (D)30%

In how many years will the simple interest on a sum of

6
money be equal to the principal at the rate of 27% per

annum?

fora aut | fordt «AUTS W TR = 22% afa oo

F R Y AT F SO G SI?

(A) 34 years/ad (B) 37 years /a4

(C) 35 years s (D) 33 years/a'ﬂf

When a number successively divided by 8, 5 and 4 leaves
ramainder 3, 2 and 5 respectively, and the last quotient is
4. Find the sum of remainders when the number
successively divided by 4, 7 and 9.

5o foRelt T # wiaEw ®9 9 8, 5 oI 4 © fawfsm
FE T ATRA FAI: 3, 2 AR 5 wEar B, qen Afw
HITHS 4 &1 T 1 hiHE S F 4, 7 IR 9 9 fawfsm

FHE W ITES FHT A TG FHITC

A) 12 ®B) 14 O 10 D)8

6+8x6+8+6+6+6+5+6

444x4+44+5+5+5+4+5

(A) 2 3)) 2L © I~ D) B
217 217 217 9

If the price of an article is raised by 35%. By how much
percent must a householder reduce his consumption of
that article, so as the expenditure increases only by 10%?

Ifg forelt a5 &1 ®AT Ui =S 35% @1 & W ar [@E
W1 I9 I I @I fohad FTe@ *HH FHA BRA, TR
= | Hhad 10% HT JhG Bl7

25 23 14 13
25=% (B) 25—=% 18 —% 19—=%
(A) 225570 (B) 25570 (O) 1870 (D) 175270

The surface area of a sphere is 2464 cm?. Find its volume.
T Tl 1 g3 SRThel 2464 THE T SHRT S 6
it

1 2

(A) 13121 3 em’ (B) 11498 e’
2 1

(O) 11892 7 e’ (D) 11621 3 cn’



14.

15.

16.

17.

18.

19.

There are 12 workers in an office and the average age of

1
all the workers is 355 vears. A new worker joins the

office, the average becomes 37 years. The current age of
the newly joined worker is?

T FEEE § 12 S 8 ) vt swe=iiEr 1 sl

311335% a9 | Tk A HHEN wEed W wtee e
7, ot 37 o @ a1 21 U enfie gu e 6
TAAH S FA 2

1 1
(A) 575 years/ad (B) 475 years/ad

1
(C) 55 years/ad (D) 555 years/ad
How much water should be added to 84 litres of milk at

1 7
3 5 litres a rupee so as to have a mixture worth 2 Py litres

a rupees?

3% X 9fd T F R H 84 WX g9 H fRaar Wt

T s =nfew fa 2% X wfg v99 =1 fasor o

32

(A) 20 litres (B) 15 litres  (C) 21 litres (D) 25 litres
The areas of two similar triangles A ABC and
A MNO are 12.96 cm? and 635.04 cm? respectively. If
AB = 8.7 cm then find then length AB = 8.7 cm then
find the length (in cm) of MN equals:

) TR s A ABC 3R A MNO &1 €5(%el A3l
12.96 T &R 635.04 T ¢1 afx AB=8.7 ¥l ¥ AB
=87 I, ¥ AW MN & o= (Wt #) W@ Hife:
(A) 203  (B)58.4 (©)60.9 (D)52.3

A pole of length 7m is fixed vertically on the top of a tower.
The angle of elevation of the top of the pole observed from
a point on the ground is 60° and the angle of depression of
the some point on the ground from the top of the tower is
45° The height of the tower is:-

T 7 WX 0 EH T AR & R W deed ®9 °
o g 1 WA W T g § @Y % R w1 s
T 60° T T HAR * ReR ¥ s w R fag
ST I 45° | HHR FT S T

7 7
A 723 -DH®B) 5(ﬁ+2> © E(ﬁﬂ) D) 73

Rohit sold his car at 10% below the cost price to amit.
Amit got the car repaired and spent Rs. 5000. He then
sold the car to Mahesh at 20% above the total cost, which
is equal to Rs. 1,00,000, Find the original price of the
car (nearest to hundered).

J T FR AT FH TG AT H 10% FA R

A A 3 wR KT TOHT FE@E SN 5000 TR @
fou| R 3T R I 789 F | ard § 20% AU
w5 T, S 1,00,000 T % UK Bl HR HI I
Fmd (H % freread) s i)
(A) Rs. 93000 (B) Rs. 83000 (C) Rs. 87000 (D) Rs. 94000
Find the equation of the line passing through the
intersection of the lines 3x+4y=7andx—y+2=0and
having scope 3.

20.

21.

22.

23.

24.

25.

Mock Test Paper-2

@el 3x +4y=7 A x—y+2=0 & Fir=sg fog ¥ A
S TN & 3 CH W H GHIHO G SIS

(A) 4x -3y +4=7 (B)21x-Ty+16=0

(C) 8x+y+8=0 (D) 13x+4y+8=0

If a 9 digit number 708x6y8z9 is completely divided by 11.
Then find the sum of all possible values of (x +y + z)

T 9 ikl =T TE&A 708x6y8z9 T 11 | quia: fasfsa
foFa ST @ (x +y + 2) ® Tt dofaa A F ATERS
BT

(A) 48 ®B) 15 (C) 43 D) 32

Box 1 contain 6 red and 4 black balls. Box 2 contain 3 red
and 7 black balls. A box is chosen at Random and a ball is
drawn from it. If the ball drawn is found to be red. What is
the probability that it is drawn from the box 1?

W 1§ 6 el SR 4 et 1 S S 2 H 3 Wt i
7 =Tl e F| U S 1 Agreweh w9 W T W ©
AN 3EE W U g et S 21 Atk feeeh T g
w;ﬁaﬁﬁ%,aﬁaﬁ@ 1 9 7 frhel SH &1 HumEE
= 3?

A 9 2 4 24

A 55 ®) 3 © 3 ®) 53

There are 35 students in a hostel. If the number of students
increased by 7. The expense of mess increased by Rs. 42 per
day. While the average expenditure per day decreaesd by Rs.
1. Find the original expenditure of the Mess?

T TEEE | 35 B 2| AR B F weA | 7w G
T @ HE *] = WA 42 T 98 141 Sdieh qidred
A = W 1 T9 1 FH gE| WG 1 g = F W@
hifSTL?

(A) 420 (B) 630 (C) 830 (D) 730

A shopkeeper gains 20% when he sells an article at a
20% discount. If the cost price is reduced by 20% and he
wants to earn 35% profit, then how much percent
discount should he given on the same marked price of
the article?

@@aﬁ@aﬁaﬁm% T T AT T 20% T AT
B 21 AR IH 35% WE W HA S, A W aE B FHH
siferd qoa W foha wfaem =1 g2 30 =fg?

(A)22%  (B)30.2% (C)28% (D)33.33%
720 litres of a mixture contain milk and water, only in
the ratio of x : 3 respectively. If 30 litres of water is added
into it, then the ratio of quantity of milk to that of water
in the resultant mixture will become 3 : 2. Find the value
of (x*-3x)?

720 ofieX fagon ® g IR U e x 13 ® o ud W
g1 afx sod 30 ofiex ur fireman S, A qRom fason
o g 1 A SR G T A R S 3 : 2 B ST
(x2—3x) @1 91 T HIfST?

(A) 25 ®B) 15 (C) 10 D)5

A mobile can be purchased on cash payment of Rs.1500.
But the same mobile can also be purchased on the cash
down payment of 350 and rest can be paid in three equal
installment of 400 for next three years. Find the rate of
simple interest?

T A6 1500 9 & TR TIAM TR ST ST Fohal
21 A @ WA 350 T % RS qTE WS
UL T a1 B AR ST 1 YEE ST A an ®
fere 400 T H A SR Rt | R s TR R
TR =S i T @ HITL?

(A) 24%% ®B) 13%% ©) 2%% D) 34%%



26.

27.

Mock Test Paper-2

The first, second and third class fares between two station  28. A group of men decided to do a job in 4 days. But since

were 10 : 8 : 3 and the number of first, second and third
class passengers between the two stations in a day was 3 : 4
: 10. The sale of tickets to passengers running between two
stations on that day was Rs. 8050. How much income was
received by the sale of second class tickets?

WY & W= wod, fgda aon qda goit & A o
e 10 : 8 : 3 off Jo W f&7 H I wIA &% d=
vom, fgdta qen o goft & At &1 Se3 14 2 10
off| 3§ o7 g1 ¥Wl & &= =er 3 A & fowal
1 TRt %8050 T3 fada oot = fewhel =1 Tl @
forat e 22
(A) 3000  (B) 2800
Sin@ —cosO+1 _
sinf +cosf —1

(A) secH sinf
(C) secO + tand

(C) 4500 (D) 3500
?

(B) secb tanO
(D) secH — tand

29.

20 men dropped out everyday, the job completed at the
end of the 7th day. How many men were there at the

beginning?

35%%}@@{5’%4 T o e U w1 e R
TifeR e &R T3 20 o W Big <0 9, THiee W 7e A
% 310 ¥ 90 goll BT H Fha gew 942

(A) 240 (B) 280 (C) 140 (D) 150
If x =339, y =350, z =361 then find the value of
Ly +722-3xyz="7

G x =339,y =350, z=361T X* +y* + 22— 3xyz="?
1 A A T2

(A) 381150 (B)423851 (C) 846231 (D)358216

30. The sum of two numbers, is 528 and their HCF is 33. The

possible numbers of pairs are.

= et F A 528 T SR STHTHCF 33 ¥1 i F
Hfaa wet 2

(A)3 B) 4 ©)5s D1
‘ Answer Key ‘
(1. ®|2 ®3 wl|ls &l ©ole ol ®s ©lys © w0 ©]
1. O [12. © [13. ® [ 14 ©]15 @B [16. ©] 17. (© |18 (C) | 19. B) [20. (A
(2L ® |22 W) |23 © 24 ©Of25 ©]26. ® 27 ©28 (©]2. (4 [30. B

1.

2.

tan 50 +tan30
4cos 46 (tan 50 — tan 36)

sin 50 cos 30+sin30cos50
4.cos 46 (sin 56cos36 —sin 36c0s56)

sin (56+ 30) sin 80
4cos40sin(50—-30)  dcos 40 sin20
- sin2@ = 2sin@ cosP = sin 26 = 2 sind.cosO
2sin 40 cos 46
4cos 40 sin26

=9

2.2s1n 20cos20 B )
4sin20  C0s20
A B C A+B
X+9 X+ 4 X
X= /9x4 =6

A=6+9=15days
R : local express
speed 5 : 1
2520 2520
+ =
Sx x
x=24

2 x63

1320

2axs U

time taken =

46.41
40,000 x =
100 18564

AADC ~ AABC
ADC [£T
" BAC | BC

o _ [2] ™~
171 \BC 12‘
1 12

9 BC
B =36 cm.

A B

618-6300x >
100 0 = 500

16x3
PC 3 E
PC, 5 2
— 60 P
1—12
CC,=5-3=2
2—24
sorl +1r2=24
8§ > 24
3J3x5 = 3415
5 6
10 9
1600 2000

20 27

7
profit = %Xloo =35%

100 100
T= R E =35 year
7



10.

11.

12.
13.

14.

15.

16.

17.

18.
19.

8 859 3 4

859

5. 107 Y2

~J

214

30

X 21 +
4 5
I~ 0
4
34+4+3=10
1 5

124—+=
6 6 _

9

13

4+4+1+i
55

£><100 = 18ﬂ
135 27

4712 = 2464

2464 7
r=,——7— =14
4 22
2

L 2464« 2 11408
4 14 2
37T 3 3

37 +12 x 1.5 =55 years
Milk  Water
3.5 0

15

8
7N\
LB
8 8
15:13

84
—x13 =
5 72.8
V635.04

+12.96
36 . 252
1 7
1 \
8.7 60.9
T+x
NG
\/gx -x=74
7 A3+l 7

= —X = —
T B Bl 2

(1,00,(;00x5_5000jx% .

(541

3x+4y=7
(x—y =-2)x4
3x+4y=7
dx-4y=-8
Tx=-1
x=—
7
3 52

4y = 7+7: 7

option B slope ? =—=3

000

20.

21.

22.
23.

24.

25.

26.

27.

28.

29.

30.

aad

Mock Test Paper-2

eqn of the line passing through this point with slops 33
y-yl=m(x-x,)

13 1
y-— = 3 ¥+ = 20x-Ty+16=0

708x6y8z9

N ANANA/

All possible valuesof x +y+zis 5, 16, 27 - sum = 48
Box 1 Red Balls=6

Box 2 Red balls = 3

2

6
Probability of Box 1 = 5 = 3
B/x+N=Lx-1)=Tx=84=x=12
35 x 12 =420
CP
100

MP

150
—20% Q

80
New SP = 80 + 35% of 80 = 108

42
. di o, = —x100 =980
.. discount % 150 28%

3 : 2
J J
450 300

J
450 270
T1-90 T %90
5 3
x? —3x
25-15=10

14

ﬁ[1150x3—400(1+2)] =400 x 3 — 1150
14

—[3450-1200] =

100[ =50

50x100 20 2

30 32

90 — 8050
32 — 2800
put o =45°

sin@ —cosO +1 1 B
sin@+cosO—1 \/5—1 B \/E—H

-, option (c) satisfy
nx4=n+n-20+n-20%x6

204120

n= x6=>n= 140
9b & = 9 x 350 x (11> = 3,81150
528 16
RN
15
13

11

9
four- pair

~N U=



MOCK TEST—3

If 2> = by + cz, b> = cz + ax, ¢® = ax + by then find the
ol

1) x LY L7,
Valueof2 a+x b+y c+z )

qE a2 =by +cz, bP=cz +ax, & = ax + by €, q

1l x b% z
- + + Fifeg
2{ b+y C+Z}E|'T[‘:I'FT§|'R‘T

a+x

(A) 2 B)a+b+c (C)% D) 1

1
If x* + o 2207, then find the value of (x -1) (x -2)
X3EDHE-5E-060)=727x>0)

fE X+ xl—4 =2207, 4 (x-1) (x-2) (x =3) (x—4) (x -5)

(X — 6) =1 | G HISC (x> 0)

(A) 475 (B) 495 (C) 572 (D) 387

If 14c0s%0 + 14sec’® = 197 then find the value of 7cos?0
=9

Az 14cos?0 + 14sec’® = 197 @ 7cos?0 =T HF A
wHifere?

(A) 6 (B) -6 ©)3 (D) -5

If cosec A + sinA =5 then find the value of cot* A — cos?
A?

G cosec A + sinA =5 Tl cot® A — cos? A T HF M@
wHifere?

(A) 19 (B) 21 (C) 23 D) 27

9 men can complete a piece of work in 8 days. 12 women
can complete a piece of work in 12 days and 36 children
can doitin 5 days. 4 men, 12 women and 20 children do
the work for 2 days. If the remaining work be completed
by men only in 1 days. How many men are required?
9 I TH w1 HI § & F W F HRA 21 12 wieand
T FW A 12 T H A e § O 36 T W S
&7 o 90 R T T4 oW, 12 "fgend 8’ 20 S 2
&1 o %W = €| A 99 W waw @ g 1 A o
9 TR ST R fRas qRel T stevEsRan et

(A) 45 (B) 36 (C) 40 D) 50

A person purchase an article for Rs. 22000 cash and Rs.
9000 cash downpayment and two monthly installments
of Rs. 8000 ecach. The rate of simple interest is.

T Al 7 22000 T ThT SR 9000 T ThT SSTIHE
A 8000 TT TIF I q AMGH fohed] W TH o0
TS| W =S S R

(A) 250% (B)200%  (C)280% (D) 150%
Kavya invested a sum of Rs. 51200 at compound interest
at the rates of 12.5% per annum. What interest does
Kavya get if she invested her sum for a period of

2

2 3 years.

T A 12.5% T 9 FI R F TG AN T 51200

8.

10.

11.

12.

13.

Tq3 o1 Traer fowem afs e = et ofen 2§‘orsfaﬁ

sty & fau femn &1 @ 39 fod == faemm?

(A) 216400 (B)Z 18000 (C)Z 15400 (D) T 16000
There are 8 green balls, 19 orange balls and 13 pink
balls, in a bag. If 3 balls are drawn one after another
without replacement then find the value of probability
of getting a green on first draw, a pink ball on second
draw and a orange ball in 3rd draw.

Tk O W 8 'l 2, 19 AR e #fiR 13 Terst 7
Afg 3 & wl fo gfowerm # s & 9% U femen
ST #, A TeS g R & e, TR I W e R R
TR gl # ARt g faer &1 wifosRan &1 719 A Sl

4 7 3 1
@35 ® ©3F O3
If the mean of four numbers is 47. The mean of the
smallest three numbers is 44. If the range of the data is
12 , what is mean of the largest three is?
A =R HEAAl F1 /LA 47 T T B A GEAA
e 44 21 AR SAiRel ®1 w12 2, 9 go Tt =
TEAHA T A A E?
(A) 40 B) 44 (C) 48 D) 47
Find the perpendicular distance between the lines.
3x+4y+28=0
3x+4y +18=0 is
et & d= deed g T S
3x+4y+28=0
3x+4y+18=0
(A) 2units (B)3units  (C) 1 units (D) 4 units
Profit obtained on selling on article for Rs. 2475 is equal
to the loss incurred on selling the article for Rs. 1575. If
selling price is Rs. 2430, then what is this profit
percentage?
TRl a%g W1 2475 T | = W W@ o1, S TE R
1575 94 | o=F R g2 T % e 21 A% o qed
2430 B, W F% NN Wiaw F 2

2 1
(&) 165%  (B) 25% (©20% (D) 12%

The marked price of an article is 18625 Rs. A dealer
allows two successive discounts of 20% and x% on the
marked price and sells it for 12,665 Rs. What is the value
of 'x'?

fepedt o <1 SifeRd o 18625 99 §1 W faghan sifera
qod W 20% 3R x% HT I FHiFFR T2 301 8 IR 9
12,665 T & o=l §1 X' T WH 87

(A) 10%  (B) 12% €)15% (D) 5%

The milk and water in two vessels are in the ratio of 3 :
1 and 7 : 11 respectively in what ratio should the liquid
in both the vessels be mixed to obtain a new mixture
containing half milk and half water.

T KA W g SR AT T ST A 3 1 R 7 :
11 31 S = § qXt i fohw U ® e S
=T o e g AR e gl oren fHHe W e
(A)5:7 (B)4:9 ©1:1 [D4:7



14.

15.

16.

17.

18.

19.

20.

21.

The average of 8, observations was 25.5. It was noticed
later that two of those observation were wrongly
taken.One observation was 14 more than the original
and other was wrongly taken as 31 instead of 13. What
will be the correct average of those 8 observations?

8 VerO o1 ST 25.5 o 9% ® W1 Wew foR o W
Uo7 TTord forT T A1 U Uerol Hot § 14 Sk o SR
TET 13 % 919 31 Ted T T on 39 8 WEl
gl St 4 Bm?

(A) 225  (B)275 (©215 (D)26.5
Distance between two station is 450 km. A person from
A station starts moving towards station B at a speed of
15 km/hrs another person starts from station B moving
towards. Station A 20 min before the first person with
the speed of 20 km/hrs. Find the distance from A where
they meet each other.

3 RyHi % ot #1 gl 450 TR ¥ T SRR wEE A
W WA B & SR 15 fohHi/ser 1 70 o Fo g8 &
B TO0 At WYE B W WA A 1 R 20 TR/ Y
TIfq & Teet wAfE | 20 i e =er JE H ¢ BRE
A 9 T W@ HIT el T g W e )

(A) 260 km. (B) 195km. (C) 190 km. (D) 265 km.
Two equal circles of radius 8 cm intersect each other in

such a way that each passes through the centre of the
other. The length of the common chord is.

8 Tl o= el 3 SeX JAR 99 Th SR F 39
TR FesE w1 € R 9 ThE-gm ® s 9 g e
2| SyafTs e F1 o 2

(A) 43 em(B) 83 cm (C) 2/3 cm(D) 63 cm
A circle is incribed in AABC having sides AB = 16cm,

BC = 20 cm, AC = 24 cm and sides AB, BC and AC
touches the circle at P, Q and R respectively. Find the

[AP+CQJ
value of 5
TF I7 AABC H &R € St s=I¢ AB = 16 ¥,
BC =20 ©Hi, AC =24 St ¥ g1 9o AB, BC 3R

AP +Ci
AC T9 I F99: P,Q S?ITRWWW%I(%QJ
1 | @ HISC?
(A) 10cm (B) 12 cm ©)15cm (D) 18 cm

The radius and height of a right circular cone are in the
ratio of 3 : 16 . If its curveal surface area is 9240 cm?,
Find the volume of cone is (cm?) is .

TH o Fd v w1 B MR SEE W U
3 : 4 | AR THHT Tk TS GABA 9240 THE B, A
Tidh, 1 A (THP) @ RIS

(A) 2,42,550 cm’ (B) 1,55,232 cm’®

(C) 1,64,350 cm’ (D) 1,03,488 cm’

Each exterior angle of a regular polygon is 30° then find
the sum of number of sides and number of diagonals is.
Tk Frafd g 1 Y SRl 101 30° © A1 genel
TEA IR oo 1 wEA H AN W6 i)

(A) 56 (B) 66 (C) 54 D) 72

Find the minimum value of 4 tan?0 + 9 cosec? is

4 tan®0 + 9 cosec?® T AT A TG IS

(A) 13 (B) 22 (C) 24 (D) 21
48.3[4.952 +4.95% 13.25]

[(1255) ~(5.657 |x198 =7

(A) 175  ®) 15 (© 175 ()25

22.

23.

24.

25.

26.

27.

28.

Mock Test Paper-3

If a nine digit number 7p5964q28 is completely divisible
by 88, what is the value of (p*> — q) for largest value of q,
where p and q are natural numbers?
Ifg A fRi o T 7p5964q28, 88 | Tuid: R T,
aﬁ%;ﬁwﬁat%m%m (p*— q) 1 5 F41 €, el
p 3R q W wEA €2
(A) 81 B) 9 (€)0 D) 72
A shopkeeper sold two items. The selling price of the
first item equals the cost price of the second item he sold
first 20% profit and second at 12.5% loss. What is his
overall profit/loss percent ?
T THMSR A J Squ o+ | Teelt a5 1 foRa g
T T F F9 God F IO ¢ SE UEel a5 W 20%
T W TA THD AT 12.5% B W d=1 IR R/
/eI e 87

(D) 230

3 4 2
3—% 5—% 4—9%
(A) 577 B2 (O A 11
In AABC, AB = 6cm, AC = 8 cm BC = 9c¢m. The length

of the median AD is
AABC ¥, AB = 6 THI, AC =8 THI BE = 9 THT| HTfeemt

AD ! @ ®
(A)m B)JE (C)Jm (D)Jm

2 ( 2 2 2
In AABC, P is a point on AB such that BP: AP=7:3
and Q is a point on AC such that AQ : CQis 5:3. IfRis
the point of intersection of CP & BQ and RQ = 1.8 cm
then find the length of BR.
AABC ¥, P AB W T fig 30 ¥R ¢ T BP: AP=7
:3 3RQ, AC W Tk foig 38 TR 2 &F AQ: CQ. 5: 3
213 R, CP iR BQ 1 wfi=sg fifg & q¢1 RQ = 1.8
Tt €, A BR 1 o@E W@ i)
(A)56cm B)28cm (C)45cm (D) 11.2 cm
A started a business with a capital of Rs. 72000 and
admitted 'B' and 'C' after 4 months and 6 months
respectively. At the end of the year, the profit was divided
in the ratio 4 : 3 : 2. What is the sum of the invested
capitals by 'B' and 'C'?
A 7 72000 T FI -GS % WY TH FEAE TE RmA
R 4 HEW SR 6 FEH 1% wAEE: B’ SR 'C' I A
fram o % ofa B, AW A4 13 ;2 F oIUA H
faefs@ &= T B @ik 'C' gr R Y T get
TN 41 22
(A) T 158500(B) T 168000 (C) T 204000(D) T 153000
A certain sum of money becomes 13 times of itself in 60
years. Then find in how many years the sum of money
becomes 17 times of itself.
e e ofer 60 Al § w@E w13 T e S #)
A FAEY fRas AW | o @@ & 17 A 8 S
(A) 70 yrs  (B) 75 yrs (C)68yrs (D) 80 yrs
Four people A, B, C and D start running around a circular
track of length 12 km.Their speeds are 6 km/h 6.5 km/h,
7 km/h, 7.5 km/h, respectively. If all start running from
the same point at the same time in the same direction,
when they meet for the first time at the starting point,
how many rounds would have 'D' made?
=R =t A, B, C R D 12 el o T kR ¢ W
AT Y& FW T ITH! M FAW: 6 TRA/HLD, 6.5
fereiyeiar, 7 fervfisia, 7.5 frefiysiar €1 afx wsft w &
THg R T € f6g 9w & fen | e g #w €,




29.

Mock Test Paper-3

Al W o Yeell SR e fig W firer €, D' A TR
FFHL T, B2

(A) 13 (B) 12 (€) 8 D) 15

A company employs a salesman and promises to pay
commission 10% of monthly sales. Later, the company
decides to change the condition and Now he will be paid
Rs. 6000 per month and also 6% commission on the sale
above Rs. 20000. According to the second condition, he
now receives Rs. 1200 more, then find the monthly sales.
Tk HU T Hewi i R i © S Aithes fasht
1 10% FHE I BT G FET 2| THF TE, FA A
¥ S T HEA fHAT SR T 39 T AE % 6000 T
YT foman SO SR T 20000 W AR H TR W 6%

30.

FHHTYE o fEan Smem 3E I % SR, 81| 3 1200
T ffyew oo € @ At faskt s Sifsm)

(A) T80000 (B)Z 96000 (C)ZT 90000 (D) 84000
A tank has tapes A, B and C. A and B can fill the tank in
10 hours and 12 hours respectively whereas C can empty
it 15 hours,if tap A, B and C working alternatively for
an hours, then tank will be filled in how many hours?
Tk 3% W 7T A, B 3R C €1 A 3T B 3% i %H9: 10
52 @R 12 2 W W Uk € Wl C ¥ 15 W H @t
T HeHal B, 975 T A, B R C TH-TF 2 & o
T-IR W HW FwQ@ E, @ IF R e F w wmm?
(A) 21 hours (B) 23 hours (C) 15 hours (D) 24 hours

‘ Answer Key ‘

ol ®[3 ®|4 ®»|5 ®»|le ®»|7 ©|s o9 «© |0 @]
1. (O) |12. (O |13 ® |14 © |15 © |16 ® | 17. B |18 ™ |19 B |20. D)
(21, © |22 D) [23. D) [ 24 A)[25 D [26. O[22 ®[28 ® [29. (© [30. B |

1.

&

x+—=7

x
x2+1="7x
xX-Tx=-1
-DE-6)x-2)(x-5)(x-3)(x-4)
x*P-6x-x+6)
X-7x+6)=>(-1+6)=5
Same
1+6)(-1+10)(-1+12)
5x9x11=495
cos® =1t
142 - 197t + 14 =0

1
= cos0 = e cos’0 = 14x

2
=7/ 1Ix—-1|=_
= 7c0s26 ( 1 j 6

cosecA + sinA =5

cosec’A + sin’A = 23

1+ cot?A + 1 — cos’?A = 23 = cot’A— cos’A =21
I9xmx8=12Xxwx12=36 x¢cx5

m:w:c

10:5:21

T.w="720

360
W= To 36 |720— 2(40 + 60 + 80) = 180%2 = 360

r

—~__[13000 x 2 - 8000 x 1] = 3000
100 x 12

11.

13.

—__[13000] = 3000
100 x 12

r=200%
8:9

8:9
“36: 37
256 :333
1 2

_><_

£, 9

51200

x 77 =15400

Cl=

8 19 13 1
— X —X—=—
40 39 38 30
abcd—>47 x4
ab,c—>44 x3
d=156
9=56-12-44

88 +56 _
3
28 -18

V37 +47

(C) cost price =
profit = 2430 — 2025 = 405

bed = 48

=£=2unit

247541575 _ 4050
2

=2025

proﬁt % = ;LSX 100 =20%

025

(100—x)

4
X —X =
18625 5 100 12665
100 -x=85 = x=15

m:w
3:1
7:11



14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

37
4 18
%

1/ 2\1
9 4
4:9

18+14

25.5- =23.7

25.5—g:21.5
8

20,2020
60 3
20

450 - =——
«15 = 13303><15=19O km

AN
\/
NG

:2><7><8=8\/§

AB+BC+AC=6
AP +BP + CQ = 30

AP=10

BP=6

cQ=14

AP+CQ 10+14_12
22

h=4x,r=3x,/=5x

CS.A =mnr/

= 27—2><3x><5x=9240=xz 14

mh _ 22 42x42x56
7

=103488

Volume is

12(12-3
12(12-3) 15 5412266

4 tan’0 = 9+ 9 cot®0

2x6+9=21

48.3 x 4.95[4.95 +13.25]

19.8x6.9x18.2

48.3x495x182  17.5
198 x69x182x10 ~ 10

TP5964q28

q28
8

35-P_15

pPP-q=81-9=72

=1.75

q Largest=9

(@

I x5P=1Ix CP

SP, = 120% of x

SP,= 87.5y. 100y

Ix2100x=p x100y 5

24.

25.

26.

27.

28.

29.

30.

aQa

Mock Test Paper-3

x_100 _5
y 120 6 20 ~-12.5
. d100—75 25 3.,
V=70 _29_ 500
oved T 11 11
Media A = %\/ZABZ +2AC* -BC?
%\/2><36+2><64—81 6 8
1 119 B gD g C
3 119="—= S5
9518
T
56 > 11.2

A _72000x12 4
B 3xx 3
X = 81000
A _72000x12 6
c 4 2
y = 72000
X +y = 81000 + 72000 = 153000

60

—X16 =80yer
D) 15 y
12 12 12 12
(3,5,7,%] Icm Round completed

24 12 8 24
227 22 °1_04 =20
[13 7 5] by D="5-=15

6
6000 + (x = 20000) 7=

0 120
X X — =
7 100

600000 + 6x — 120000
—10x = 120000
—4x=-360000 = x = 90000

A=10 |6
B=12 |5 |60
C=-15|-4
3hr -7

x 7

21hr =49
+2 11
23hr 60



MOCK TEST—4

r
Find TSA of a cone of radius 3 & slant height 27 ?

% e 3R 2/ Tt SS9 ot T, 1 TSA 5@ 2
ﬂ; (1-1—3} (B) ﬂr(2l+§j

r r 21 r
(©) ?(2l+§j (D) ﬂr(?—kgj

The length of the portion of the straight line 8x + 15y =
120 intercepted between the axis is:

et @ 8x + 15y = 120 & &l & o9 siq:@ieq 9m
(A) 15

(A)

B)8 (©) 23 D) 17

Iftant +cott=1 find \/3[7] ?
sinz +cost

g tant+cott=1, \/3[7] T 2
sinft+cost
1 2 B
(A) 5 B 1 © 5 D) -
Find the value of
12+3E— lé— Slx 33 41
1 3 4 4 5 2
3 11xs!
3 5
1 WM @ HitST
12+3z— lé— 51 3§+41
3 4 4 5 2
llxs1
3 5
(A)3 B 1 ©?2 D)5
Which of the following is correct:
= ¥ § FH- w8 o

I. A triangle can have two angles more than 60°.

T s § 60° @ atfuk & < HI07 e wRA B
II.  Atriangle can have only one of obtuse angle

Tk B ¥ Fad w @ st w0 @ gewRan 7
III. A triangle can not have two acute angles
e s ¥ Q1 =gAw TEe v
Sum of any two sides of a triangle can be equal to
its third side
Tt forqe =1 o=l < qemsti &1 o STt el 9e
& SRR & T ¢
(AL II G LILIV (LI (D) ILILIV
A shopkeeper offers 3 schemes of discount to his
customers which of the schemes will fetch minimum
discount percentage?

Iv.

N

12.

13.

T HFER 39 TEH 1 B2 HT 3 ASHIT 93H FHIdl

¥, T 9 Br-T Ao gEn T2 e W

a.  Two successive discount of 20 & 30%/20 3 30%
I g FwiFE T2

b.  Buy 3 get 5/3 TRl 5 WAt

c. Buy 5 get 10/5 @& 10 e

(A) Botha&c B) b

©) a D) ¢

A man travels some distance from his house to the

crossroad by an auto with speed 45 km/h & return by

cab with speed 63 km/h find average speed during the

whole Journey?

T ARH o R W AR qF w5 g0 45 FRdfsa w5

TR & T S g T F R 63 FRHy/E 8

¥ e W G99 A ¥, OO A % SN Sd T 5

L2

(A) 54 (B) 52 (C) 53 (D) 52.5

If radius of circle is increased by 37% then by what

percentage did the surface area increases?

afs ga =t oo o 37% =1 3fg & @ Tde dewa |

fora wfoema =1 gfg =ri?
(A) 87% (B) 87.75%
(C) 87.5% (D) 87.69%

[18—3x{3—(3+%—3)+3+%+3}—4x2]

(A) 19 B) -17 ©) 12 D) 15

The population of a city increases every year at rate of
6%. If population of city is 15000 what will be population
after 2 years

TH YRR FT TS TS 6% H R W T ¢l AR
T FT SEST 15000 & A 2 A AR G R
g2

(A) 16845  (B) 16854  (C) 16584 (D) 16500

. Atrain covers a distance of 60 km in 27 minutes travelling

at dou(})le the speed how many meters will it cover in 10
secon

T A IO A ¥ 60 TRt &1 g0 27 fae ¥ a9 &t
%, T 10 Yhe H forae Hew ®1 g 99 i

(A) 185m (B) 357m (C) 228m (D) 252m
If (sinx + siny) = a and (cosx + cosy) = b find (sinx siny
+ COsX cosy)

% (sinx + siny) = a R (cosx + cosy) =b, (sinx siny +

cosx cosy) A =HIfSTT

A) at —h* - ®) at+h* -1
2 2

a+b*+2 a+bh -2

<) ——— D) ————

2 2
If two circles of radii 10 & 45 cm touch each other
externalal%Then length of common tangent is.

g 10 3R 45 Tt T2 a1et &1 99 T R & 9= €9
9 o w2 A SYaTS ToeRaET # o g

(A) 1582 B 3042  (© 2042 O 752



14.

15.

16.

17.

18.

19.

20.

21.

22.

A gear 12 cm in diameter is turning a gear 18 cm
diameter. When smaller gear has 90 revolution, the larger
one will make.

12 T =9 aen T R 18 9 = At frR &6l
1 @1 2| " B TR 90 =Rt o €, o wer e
EEE TG

(A) 120 (B) 135 (C) 60 (D) 90

In a camp there is sufficient food for 100 soldiers for 25
days & each eats 600 gm per day. After 10 days 50 soldiers
went in a war. Now for how many days rest of food will
last if each soldier eats 500 gm?

w R & 100 SR % faw 25 A % forg watw
o 7 3R gk At e 600 oM @ g1 10 faAf
% o1% 50 Wk 95 § =l MU 97 A wedsw AR 500
I @I a9 e A & 9 werm?

(A) 36 (B) 40 (C) 50 D) 18
What annual Installment will discharge a debt of Rs
10192 due in 3 years at 10% SI?

FF-T itk FFE 10% TER0 =0 &) R 3 95 | 39
10192 F9¥ T 0T o1 7

(A)3044.5 (B)3188.5 (C)3144.5 (D)3088.5
A student scored the following marks 85, 76, 90, 65 &
88. Calculate range of marks

Tk BH A freAfafEd s 85, 76, 90, 65 3R 88 W@
ful SieRi T HMT FI TOET R

(A) 25 (B) 90 (C) 65 (D) None
The weights of 15 students are 42, 45, 48, 50, 50, 52, 53,
54, 54, 55, 56, 57, 58, 60, 62. Find the mode

15 B &1 asM 42, 45, 48, 50, 50, 52, 53, 54, 54, 55,
56, 57, 58, 60, 62 SR T HIY

(A) 50 (B) 54

(C) None (D) 50 & 54 both

How many numbers are there between 99 & 1000, having
atleast one of digit 87 .

99 3R 1000 F o= W forat wead € T w9 9
FH TH FF 8 27

(A) 648 (B) 252 (C) 900
Arrange the following in ascending order.
frfafed &1 SE %A H§ =areem Fl
I 4.7 I. 3:5

Im. 2:5 V. 5:9
(A I>I>1>1IV B) M>IV>1>11

(C) I>I>IV>III (D) 1>11> 11> IV
Three circle of radius 7 cm touch one another. The area
subtended between them.

7 St e AT 9 99 T o Tl ¥ ST
= w1 €9 Sfaia gel

(A) 49(2[—9 ®) 49(@—%}
© 25(@—%} D) 25(\/&%}

A fruit vendor bought 50 kg of potatoes at 19 per kg &
spent Rs. 250 as cartage. He sold 25 kg with 60% profit
& half of remaining stock with 20% profit. He sold half
of still remaining with 20% loss. At what profit percent
should he sell remaining to achieve overall profit of 40%?

TF T fagdt 7 19 ¥9F W9 fwaumm &t T 9 50
Toreime @1Te] TS STR 250 TI HIES W @ fhy) SE

(D) 253

23.

24.

25.

26.

27.

28.

29.

30.

Mock Test Paper-4

25 kg 9T 60% N WY o= AR AN ik HT AN
o= 20% A9 % W SN I U a1 few w/I
20% I = T 5= T 40% T TH0 A9 W@ FE
fau =9 ¥ FI fRa wfow@ ey W S =ew?
(A)13.7%  (B) 12% (C) 20% (D) 60%

A & B invest in a businees in ratio 7 : 3. If 5% profit
goes to charity A's share is Rs 931. Find total profit of A
& B?

A SR B Uw @ ® 7 2 3 % oA | e w2
% 5% TN I H S 2 A A FFE 931 T T A
AR B o1 A o9 A6 TS

(A) 1400 (B) 1500 (C) 1300 (D) 1200
Two player A & B play a tennis match. The Probability
of A winning is 0.62. What is probability of B winning
the match?

3 faeEl A 3R B U of@ 79 e €1 A & Siad 1
G 0.62 T B % H= o Y Wiy #4872
(A) 0.62 (B) 0.38 (C) 0.19 (D) 0.31

If two kind of rice costing 39 kg & 49 kg are mixed in 3
: 4. Find the cost of mixture per kg?

7tg 39 TR @i 49 TorTn 9o & T ¥R % = i 3
: 4 W faemn S ®, 9 wfa fEw fagor &) or@ s
wHifere?

(A)44.60  (B) 44 (C)44.71 (D) 45
Three boys, of an average as 30 year old and their age
are in ratio 3 : 4 : 2. Find age of youngest boy?
ASH HT AT 9 30 TW T S%TWFHWW
3:4 ;2 2 T DI SH HI SY AW HITSEA?

(A) 30 (B) 40 (C) 50 (D) 20

A sum of money on CI triple itself in 2 years. In how
many years does the sum become 243 times at same rate?
ek Tl 2 ot § A T R S €1 R el § g
W AT 243 T B WA 72

(A)32years (B)8years (C) 10years (D)16years
A mirror is placed facing upword. A man sees the top of
atower in the mirror which is at a distance of 95m from
the mirror. The man is 2 m away from the mirror & his
height is 4m. Find the height of tower?

T IUU SN FT AR G@ FH @ T S| TF ARH B
Td0T ¥ T HAR 1 Vi famn S e S g ¥ 95 Hex
# T W 21 FE et qdu @ 2 Wi R® ¥ &I sEa
S 4 HIRX 7| R HT HAE T FL?

(A)425m  (B)199m (©)9m  (D)380m
What must be added to (x3 — 4x2 + 3x —95) to obtain a
polynamial exactly divisible by (x — 6)?

(x—6) 9 Uid: fo9Iea 9ga8 T & & T (x3 - 4x2
+3x—95) | T SET T?

(A5 B) 4 © 6 D)3

Two coin are tossed 500 times & get two heads = 105
times, One head = 275 times. No head = 120 times. Find
the sum of probability of all elemantary event?

3} foerehi =1 500 SR BT WM & IR < fo = 105 =R,
T o = 275 R, gEA o = 120 SR 9 € 21 @i
WAtk SIS ®T WfARaT 1 AR G FHISC?

(A) 0.21 (B) 0.55 ©) 1 (D)0




Mock Test Paper-4

‘ Answer Key ‘

. Ol|2 O[3 ® |4 ®|5 @Wwle ©|7 O|8 |9 ® |[10. B
1. w122 | ©|luw o1 Wl o172 @w|18 o199 ® |20 (©
2. ® (22 O[22 A |24 ®25 ©l ©|27 ©f28 ® |20 & [30. ©
Solution
TSA ofacone= r1(r+1/) IV statement - False
AB +BC > AC
Ty AB +AC > BC
33 BC+AC>AB
P 600
_ 4 + _ - - o
_ zr(9+3j 6. a 20430 1o =44%
+ 15y = 5
8x + Loy = 120 b, =x100 =62.5%
y-axis 8
A (0, 8) 10x100
C. 15 = 66.66%
17 7. Average speed
8 2xy
(15, 0) =
. X+y
B Fras 2x45x63 105
15 108 = 7 = 352.5 km/h
x-axis W y=0thenx= 15
y-axis W x=0theny =8 o i _ (x+ +ﬂj%
triplet - 8, 15, 17 8. Yhincreases 00
tant+cott=1 =37+37+ —— =87.69%
then 100
sintcost=1 9. 18-3x{3-6+12}-8
(sint+ cos t)* =1+ 2sin t cos t =18-27-8
sint+cost= /3 -7 3 53
— X — =
ﬁ _, 10. 15000 x 5030 16854
V3 1 Sood~ 80000 1000
1, 17, 21X[155X2j - P T 5 27x60  2x27
3 3 4 4 5 9 ) 1000 10
= X =
T distance %27 185.18 meter
375 12. sinx+siny=a @)
cosx+tcosy=>b a;{gi)
12 . (i) den T, (1) & o AT HEH W
1 35 1160+44 15 2+2sinxsiny+2cos xcosy=a+b?
3] 4x26 /=375 M. o _a+b -2
15 smxsmy+cosxcosy—f
Ist statement true 13. A B
A+B=120°
then C = 180° — (A + B) < 60°
IInd statement - true
A>90°
B+ C=180°-A<90°
-» B+ C=90° B, C must be acute angle < 90°] A TqeREn
IIrd statement - False 2Jab
30. 60, 90
40, 50, 90 be < 90 2J10x 45 = 3042 cm




